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QUESTION 1

You are calculating the payback for a Green IT programme. Which of the following should be included in the
calculation? 

a.

 Staffing costs. 

b.

 Programme costs. 

c.

 Electricity costs. 

d.

 Travel costs. 

A. 

a and b. 

B. 

b, c and d. 

C. 

a and d. 

D. 

a, b, c and d. 

Correct Answer: B 

 

QUESTION 2

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint? 

A. Recycling a server. 

B. Travelling to the office. 

C. Opening a spreadsheet. 

D. Printing out a report. 

Correct Answer: A 
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QUESTION 3

Which of the following describes Carbon Neutrality? 

A. Eliminating CO2 emissions from product manufacture. 

B. Maintaining CO2 emissions at a pre-defined agreed level. 

C. Balancing CO2 emissions with an equivalent offset amount. 

D. Matching CO2 emissions between defined business areas. 

Correct Answer: C 

 

QUESTION 4

Which of the following is a method for managing risk? 

A. PRAMM. 

B. TRAMM. 

C. CRAMM. 

D. GRAMM. 

Correct Answer: C 

 

QUESTION 5

What is the best definition of a Carbon Footprint? 

A. The amount of greenhouse gas emitted within a defined geographical area. 

B. The amount of greenhouse gas emitted by extracting minerals. 

C. The amount of greenhouse gas emitted by an organisation. 

D. The amount of greenhouse gas emitted minus the amount of carbon offsetting. 

Correct Answer: C 
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